LAV [SETE — i BEE #5580 [1%449m(8)
S18R TS-1 T 7= 77790 ¥ 259 |80mg/m/H d1~d28 42
S1+CDDP TS-1 7=l ATV ¥ 25%) |80mg/m/H d1~d21 35
DRTSFY DRTSFY 60mg/m d1
SOX TS-1 Th7-I 7779 ¥ 2591 |80mg/m/H di~di14 21
TILTSvbk TxHUTSFY 100mg/m d1
S1+PAC TS-1 Th 7= 27590 £ 23V |80mg/m/H d1~d14 21
IND)ExXE)L AL E gV 50mg/m d1.d8
S1+DOC TS-1 Th 7=l ATV ¥ 2590 |80mg/m/H di~di14 21
2%t 2%+ )L 40mg/m di
S1+CPT-11 (IRISZE%)  |TS-1 Th 7= 27590 £ 239 |80mg/m/H d1~d21 35
HoTh 1)) Thy 80mg/m d1.d15
PAC (3#% 1K) NJ)ExEIL A E gV 80mg/m d1.d8.d15 28
WeeklyPAC+HER IND)BxXE)L AV Y 80mg/m d1.d8.d15 21
N—t7Fo FSRAYXTT #1[B]:8mg/kg di
28] B LAFE 6mg/kg
CPT-11 Ak Ho Tk 1)/ ThY 100mg/m d1.d8.d15 28
CPT-11 Bj% ATk L)) THhY 150mg/m d1.d15.d29 49
DOC(1#:24K) 42+t 2%t/ 60mg/m d1 21
nab—PAC(1$%24K) TI2XYY AL Y 260mg/m d1 21
nab—PAC(3#%1{K) TIo¥Y AL Y 100mg/m d1.d8.d15 28
XELOX £Oo—4 AREEY 2000mg/m/ B di~d14 21
TILTSvbk FXHUTSFY 130mg/m d1
XELOX+HER *o—4% HARVAEY 2000mg/m/ B d1~d14 21
TILTSvb X HITSFY 130mg/m d1
N—t7Fo FSRAYXTT #1[B]:8mg/kg di
28] B LAFE 6mg/kg
XP+HER £Oo—4% ARVEEY 2000mg/m/H di~d14 21
SRTSFY DRTSFU 60mg/m d1
N—t7Fo FRAYXTT #1[E]:8mg/ke d1
2[E] B LABF 6mg/kg
SOX+HER TS-1 Th 7= 77590 £ 23V |80mg/m/H d1~d14 21
TIILTSvb AXxHITSFY 100mg/m d1
N—t7Fo FRAYXTT #1[E]:8mg/ke d1
2[E] B LABE 6mg/kg
PAC+R-mab AV A DL dV 80mg/m d1.d8.d15 28
YA LY SLUIVTT 8mg/kg d1.d15
nab—PAC+R-mab TISxYY AV Y 100mg/m d1.d8.d15 28
Y AI LY SLUIVTT 8mg/kg d1.d15
R-mab BijH YA LY SLUIVTT 8mg/kg d1 14
FTO—REM FTo—KR —RI<J 240mg/body d1 14




